OGTB - OGTBM - AAU TEE=E4 TOHATSU

_ 0a1B 2-13%
(T EER)
OPTB oG G\rﬂ
oD +— 0 \\J
od |\ = N —
3 (=ge 1)L
g @ i |1 FL(EB4R)
OPB — m{r ,,,,,,,,,,,,,,,, ——
A E O
™ J‘ 20
- ®AAU —
OGTB=0G+OPTR @CBB 25 _ 20
L
OPTB — oG
EHRREE I S TREE
OGTBM
(TR EEiE)
OPTB OGM
oD X‘ ““ A B
- ad I il S|
= ! i
nJ 8 &
o L I NsuEme
OGTBM=0GM+OPTB OPB R -
16
120 |
d L
® ® I~ . L
ME | ME | BE @CRB BAAU L
SGP_| S5400 | 7 EEA90 OPTB 0aM
BB TREE
R 2= 12 TREE
o gk L, E #h
"”‘F L | .3 E& | @ea@oPTs 06 EEE | B4 e
TYPE D . D/ L|[d|D L [di] t ] w]®aAU @
40 | 80 | 60 40 | 80 60.5| 60 | 529] 38 | 91
50 | 110 | 85 50 | 110 80.1] 85| 80.7 119
90 14 90 AAUL4 | CBB8-45
42 (1%) .
70 | 140 | 100 70 101.6| 100 | 93.2 132
110 | por) 110
OGTB 9 | 90
90 | 140 | 100 | Y | 90 | 140 139.8| 100 | 130.8| 45 | 170
110 110 CBB12-55
90 2 % AAU22 132)
100 | 140 | 100 100 165.2| 100 | 155.2| 5.0 | 195
110 110
R 2= 12 TREEE
oo L =
fat L | w5 | & | @3@0PTB DOGM EEE | B4
TYPE D L D/ L|d|D L [di[d, ] t |®AAU @
40 | 80 | 60 40 | 80 60.5| 60 | 52.9 3.8 .
50 | 110 | 85 | popy [ 50 [ 110 | 14 [ 891] 85| 07| 9 paU4 | CBBE-45 T
G 42 (%) ——
OGTBM | 70 " 70 101.6 93.2 .
90 | 140 | 110 | Y& [ 90| 140 ,, [1398] 110 [1308] . [ 45 ] . [cBB12-55] -
100 100 152.5 1425 5.0 (15%) .

e [oee][p [ L u]-[me] w1 [F]
OGTB 40 - 80 - 60 - R
OGTBM 70 -140-110- Y



